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QUESTION 1

(single) Is the following description correct? 

When the multicast function is not enabled, the MA5680T discards the multicast packets sent from the user side. 

A. True 

B. False 

Correct Answer: A 

 

QUESTION 2

(single) Is the following description correct? 

The ADSL PPPoE/PPPoA user of the MA5600 implements authentication online on the upper BRAS. After the opening,
there is often a business interruption, but after the interruption, it can be redialed to achieve Internet access. This
problem may be caused by incorrect interleaving delay configuration of port parameters. 

A. True 

B. False 

Correct Answer: A 

 

QUESTION 3

.single) What is the role of the SIP header field "CALL ID"? 

A. Indicate the called number 

B. Indicate the message destination 

C. Identify a transaction 

D. Identify a conversation 

Correct Answer: D 

 

QUESTION 4

(single) What message in the PPPOE protocol is used to terminate a session? 

A. PADI 

B. PADO 

C. PADS 
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D. PADT 

Correct Answer: D 

 

QUESTION 5

(single) The ADSL user under the UA5000 originally used the activation template as 2M, and then changed the
activation template to 4M. The speed throw was maintained at the original level, and there was no obvious
improvement. What are the reasons for this problem? 

A. There is congestion in the uplink port 

B. ADSL port has poor external line quality 

C. The depth of the interleaving depth of the active template is too deep 

D. The above are possible 

Correct Answer: D 
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